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| PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on vour answer sheet.

156- ------—--—--, this increased patronage poses dangers for them, too.
1) Minority businesses for which it is promising
2) Promising as it is for minority businesses
3) It is as promising for minor businesses as
4) As for minor businesses it is promising
157- There has been no boasting about our social workers---they are merely signs of the

system’s failure, --—-—-—- -- denied or not taken, of things to be eliminated.
1) of opportunity 2) opportunity is
3) and of opportunity to be 4) opportunity

158- The unemployment counts exclude the millions of fully employed workers -—-----e-ee-
that their families remain in poverty.

1) that their wages are low enough 2) so low their wages being
3) the wages of them are too low 4) whose wages are so low

159- To consider the Byzantine military, cultural, and economic advances as differentiated
aspects of a single phenomenon -—-—-eeevv,
1) is reasonable 2) as reasonable as it is
3) which is reasonable 4) to be reasonable

160- With the help of a computer, sold artifacts could be more accessible than - in
bulging museum basements.
1) the pieces are stored 2) be stored by the pieces
3) are the pieces stored 4) stored pieces are

161- Isenberg’s recent research on the cognitive processes of senior managers reveals that
managers’ intuition is neither of these. ------—--—--, senior managers use intuition in at
least five distinct ways.
1) Nonetheless 2) Although

3) Rather 4) Despite





